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In cauda venenum
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If two states have a fidelity close to unit should we conclude that 
they share very similar physical properties ?
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If two states have a fidelity close to unit should we conclude that 
they share very similar physical properties ?

We found examples where this is not quite true if  “fidelity close to unit” is 
intended to mean the usual values 0.9, 0.99 or so. 
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Single-mode Gaussian State

Region of classicality region
Singular Glauber P-function
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Is a cure achievable? 
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Variation on a theme

superPoissonian Target State

subPoissonian Target State

Fano Factor

F > 0.97
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Entangled Target State
Separable Target State
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Fidelity And Discord

F > 0.95 0.95 < F < 0.99
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Conclusion And Outlooks

Two states with a fidelity  “close”  to unit may 
not share the same physical properties

Fidelity is a quantity that should be employed 
with more caution to assess quantum resources

Which is the minimal set of quantities to be 
specified in order to certify quantum resources?



Thanks for your attention

If you would like to know more of it, please ask questions in 
the next 5 mins or feel free to come upstair (5th floor) or take 

a look at arXiv:quant-ph/1309.5325


